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Note : Attempt all-questions.
qrar=g Adsr : (i) UTH AR F 3EavEHA ¢ | )
* General Instructions : Graph paper is required.

(if) erpere & wam &1 3yl 7 ®)
Use of calculator is not permitted.

(iif) 9 wEE 1 ° 97 @ve § 1 avs (1) A sgfaseig v, @
() ¥ i el &t qft qen @vs (9) ° gewsram foe mo
TF T | 1 3 anafed §

Question No. 1 has three parts. In Part (A) Multiple choice
questions, in Part (B) Fill in the blanks and in Part (C) Write
true/false are given. Each question carries | mark.

(iv) 99 W% 2 9 6 TF 3fa TY-39da v § | vos o W2 3w
aeifed ¥ |
Question Nos. 2 10 6 arc very short answer type questions.
Each question carrics 2 marks.
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(V) W 7§ 10 g afa aY-309 T § | gl gq W3 7P

arsifea &
Question Nos, 7 1o 10 arc very short answer type questions.
Each question caprics 3 marks.
(vi) T HUEH 11 § 14 aF TI-390F T3 & | 9= yea F S
faeea | e yyq W 4 3w STl T
Question Nos. 11 to 14 are short answer type questions. Each
question has an jnternal choice. Each question carries 4 marks.
(vi)) W % 15 we 16 Y-I90T YA € | GoUw ye H Al
faed § | U% yv W 5 3% JEfed § |
Question Nos. 15 and 16 are short answer type questions. Each

question has an internal choice. Each question carries 5 marks.
(viii) 9 F9% 17 & 18 SY-3Wa 79 & | IS v ° Hialw
foehreq & | To® 99 W 6 3% A& € |

| Question Nos. 17 and 18 are long answer type questions. Each

question has an internal choice. Each question carries 6 marks,

(i)

(@ue-31) Te fawheq e fafa :
(Part-A) Choose and write the correct option :
feamd TR ax? + bx +c=0F qATI YA T - [1]
—b+b? —4ac —a+ b —4dac
(37) x= (7)) x=
2a 2b
—c+Vb? —dac ~b+ b +4ac
(@) x= 2 (3) x= >

The formula for the roots of quadratic equation ax + bx + ¢ =0 is:

—b+b* —dac —a+ Vb - dac
X = h =
(@) 2a (h) ¥ 2b
(©) x= —c+bh? - dac 4 x= —bh+ \H): + dac
' 2h (@) x= 7
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(if) gaﬁziﬁﬂmwmw%: (1]
a
(37) 10 (&) 0
2CI __2
() — (g) =4
3 5
Anthmetic mean of % and :;- is :
a
@ 1o (b)) 0
2
@ = (@) =24
5
(ifi) afg Iy T =T 2 {3 TR g4 A, & @ g fawvi e [1]
(a7) V24 3 (%) 29 ¥,
(7 29 ¥, () 24 A,
If sides of cuboid are 2 cm, 3 cm and 4 cm, then its diagonal is :
(@) 24 em (4) 29cm
(c) 29 cm () 24cm
(iv) 99 R feug fopat fag W foraet wael Tamd @it =i wenat & 2 [1]
(37) IR () D
(@) @1 (%) TH
How many tangents can be drawn at any point on the circle?
(a) Four (b) Two
(¢) Three (d) One
(v) < auEY e & el | TG 36 : 49 8, A S Wra et
3 s @ (1]
(37) 6.7 (&) 7:5
(d) 7:6 (g) §:7

If the ratio between areas of two similar triangles is 36 : 49,
then ratio between their corresponding sides will be :

(@ 6:7 by 7:5

(c) 7:6 (d) 5:7
— P.T.0.
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(@ve-¥ ) fiam Tl F1 gfd Fifa -
(Part-B) Fill in the blanks :

(1)

(i)

(iii)

(v)

)

W@dx-y+5=0F ygorg —— ¢

The gradient of the line 4 _ , +5=0is ___

it et 2 - 8x = 0 % e 1 AN —— ¥

Sum of the roots of quadratic cquation x2-8x=0 is

—_——

fot =19 gR1 R T T4 g w10 IREY F I wm 5 Fo gy
—— @

The angle subtended by any arc at the centre is the angle

subtended by the same arc at the remaining part of circumference.

sec2(90° — 0) — tan2(90° — 6) T W —— B |

The value of sec2(90° — 8) — tan2(90° — 6) will be :

%sinl?"- cosec17° & U —— BIM|

The value of %sin [7° cosecl7° will be )

( @UE-W ) 9 Y4l 3 fafau

(Part-C) Write True or False :

()

(i)

2 fawm dEmst &1 9 gy e g -

The sum of two odd numbers is always odd.

fordt =afem & Tt TeEl A e TS o | A W T Lo
HTAF FHEA & |
The tax on annual income from all sources of any person is

called income tax.

(1]

(1]

(1]

(1]

[1]

[
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(iii) T T A g (-5, 0) F TR G 5 ward B

The distance between origin and point (-5, 0) is 5 units.

(iv) T 4 3 e Fafera w7 o, e i o 1 et €,
I HEd I G FEd €
If a fixed amount is deposited in a bank for a fixed period, then

it is known as Recurring Deposit Account.

(v) ﬁai’laﬁ%‘tﬁﬁmﬁwﬁmmam’t@ﬁﬁ?ﬂiﬁﬂ
TN o HE W E TE i §

If the graph of a pair of linear equations in two variables is

represented by two parallel lines, then the pair of equations has

no solution.

uﬁa-g-qu(x)=2x3+3x+7%,ﬁrp(t))aenp(-ummm
it |

If the polynomial is p(x) = 2%3 + 3x + 7, then find the values of

p(0) and p(-1).

fz el TETR A0 1 T TS 4 3R T i 4 7, @ pal ) W@
FIfAT |

If first term is 4 and common difference is —4 of an arithmetic

progression, then find the nth term.

[

[1]

(1]

[2]

PT.O.
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2 fag3 P(1, 2) 891 (3, 10) R sy el Y@ HY TA0A 1A HIC

Find the slope of the line passing ghrough the two points P(1, 2) and
0(5, 10),

T 3 cos(90° - §) * m

sinf cosB

Find the value of : m + ;n—('ao"_—e)

S 3, 8,10, p, 5 T 4 H wyrR WA | 2, @ pw W T
Hfa)
The arithmetic mean of the data 3,8,10,p,5and 4 is 15, then find

the value of p.

I.¢ ddfogafufs 2t a
Tf& b_d . m b+d b
If 3=_C_,thenprovelhat ———G+C=E.

b d b+d b

Tt F 5t FHfu N+2y=12
X=-y=-]

Solve the equations : 3y + =12

2]

(2]

2]

3]

3]

3]
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14 ﬁ.mmﬁaﬁmd@q@qwmml 3]
Find the total surface area of a hemisphere of 2 diameter 14 cm.
=1 Roft 9t myfiereny qr fC - S [4]

TR | 0-10 10-20 | 20-30 | 30-40 | 40-50 | 50-60

W | 8 [ 30 [ 40 | o ; 6

Find the median of the following table - /
Class-interval | 0-10 | 10-20 20-30 | 30-40 | 40-50 | 50-60
Frequency 8 30 40 9 7 6

3rerar
OR
=1 wroft =1 g 9w Fifw

T 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

amgfe 4 8 14 | 20 30 15 6

Find the mode of the following table : https://www.cgboardonline.com

Class-interval | 10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60-70

Frequency 4 8 14 20 30 15 6

Ife fordlt vigaR H9 F oMuR F wRfy 22 Jvit. 1 9K 6 A R, @
S arfyeran feran a1 o wea § ? [4]
If the circumference of base of a conical cup is 22 cm and height is

6 cm, then find the maximum capacity of the cup.
arear
OR
T Ae H1 AEEA 3080 ¥ ¥l 3R Fawd 20 A, ¥ 1 Ao W AH
T3 9 Hifere )

Volume of a cylinder is 3080 cm? and its height 20 cm. Find the area

of the curved surface.
e
P.T.0).
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U¥1-13 fﬂ@ﬁﬁq%ﬁ@ﬁﬁ@%mwn{mmﬁﬁﬁmﬁw

gt g | (4]
Prove that the lengths of tangents qrawn from an external point to a

circle are equal.

Srerar

OR
feq T & ABCH, DE||BC & qen AB = (2x - 2) ¥, AD = x &R,
AC=(2x+ 1) ¥, AE = (x +2) Jsft. %, T x 1 77 10 FHfAC

A

B C

In the given triangle ABC, DE||BC and AB = (2x — 2) cm, AD =

xem, AC=(2x+ 1) cm, AE = (x + 2) cm, then find the value of x.
. A '

UyA-14 T F TH S D A S 3T ) F R ) wwen § weida e

i@y A (AR 0 |

t2
fard
'
-y |
o
-~

a1t &1 uftung (@, ) 0 4 g 1216|201 24 | o8

—

ARV & sAihel | 3ehg Ty | [4]
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T hg table be}ow shows the lengths of one side of some squares aNd
their respective perimeters :

Length of side of
sq“are {':m) 0 ] 2 3 4 5 6 ?
Perimeter of squa |
(cm) quare| o | 4 | 8 |12 |16 | 20| 24 | %
Draw a graph between the figures given in the table.
Jerar OR
=4 Tt @ F1 gHiet g S faw gae g 2 qn @, 93

(3, 0) ¥ e Sl 7
Find the equation of straight line which passes through point (3. 0)

and whose slope 1s 3

s e PQRaﬁmmﬁmlmqﬁwaﬂtﬁaﬁABCaﬁm

gF-15
aﬂﬁmmﬁAB=-§—PQ€n [5]
Construct a triangle PQOR. Also construct a triangie ABC in
2
which 4B = 3 PQ.
3rgar OR
ﬁgaPQRa:qﬁﬂﬁqaﬁmaﬂﬁrm forad QR = 6 941, £0 = 65",
:deo"%lﬁm%ﬁ%ﬂ‘r‘af@m
Construct a circumcircle of APOR, in which OR = 6 cm, ZQ = 65°,
/R = 40°. Write the steps of construction also.
g9-16 rﬁlﬁ%wﬁaﬁaﬁmﬁ‘aa&%ﬁu 300 T e T A
mm@t—md%aﬁmmaﬁﬁﬁaﬁﬁaﬁmfmﬂ SELUE
9T gt ? [5]
Punect opens a recurring deposit account in a bank branch for two
years and deposits a monthly installment of Rs. 300. How much will
he get if the rate of interest is 4% per annum? e
P.T.0,
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3terqr

OR

fota ad 2013-14 ¥ UF yggyy wHAR B FA AMUS s
3,60,000 %. ot 1 38 20,000 %, e sfon difcaEt 1 aifds Wifoay qen
4,000 . wfoare WA Sfasy fify § oo foron | 39 SEHT Y TOAT FITAC )
STH A F T WA wifiysy fafy € Sfram s anfe 3 Frifea
WWHFWI,OO,OOOI*.mHaa%l

A & L AR E . -

waE & 4 g@mr AAFTH X
I |2,00,000% @ HIE AR T
2 12,00,001 % ¥ 5,00,000 %, 76 10%
3 5,00,001 % ¥ 10,00,000 %. d 20%

e U 2 ST w1 3% 2

The income of a government employee in the financial year 2013-14
was Rs. 3,60,000. He/she deposited Rs. 20.000 as premium on life

insurance policy and Rs. 4,000 every month in general provident
fund. Calculate the payable tax_

Maximum of Rs. 1,00.000 of savings under gener

al provident
fund and life insurance, etc. are exempted from tax.

The rates of tax arc ag follows :
—._‘_-_—_-‘-_'—-—____

:
S.N. Tax limit Rate of tax
l Up to Rs. 2,00,000 Nil
. _—__-__\_‘__
2 | Rs.2,00,001 to Ry 3,00,00¢ 10%
3 1)
3 | Rs.5.00,001 0 Rs. 10,00 500 0%
i ]

3% of payable tax ig Cducagigy coss

—‘\\_
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w17 A R wmem doit & g, 20 990 30 W § g w8, S, O
S, %, 3 fog i fis

S3=3(5,-5)) [6]

If the sums of », 2 and 3n terms of an Arithmetic Progression are
S|» 5 and §, respectively, then prove that
S$3=3(S,-5))
srear

OR

z\wmmwmmﬁmaﬁ%ﬁmwlm%lﬁ@ﬁm
s |

Find two consecutive even positive natural numbers, sum of whose

squares 15 164.
gvA-18 faofatad gaaie & fag i - [6]
\/I+cos{-] L \/T—cosﬂ — 2cosech
1 —cos®B 1+ cosb

Prove the following identity :

| 4+ cosf ] —cosB
,/——4 + 1/
] —cosh | + cos®

2cosecf

i

PT.0O.
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[12]
ey

OR

forell It & i |/ HSH A feorg Q g, o AR & fargda 3k € F e

& AT B FAY: 30° T 60° ¥ | yfz A F S 60 . B), 77 THEI
& <9 w g 91a HHae

The angles of depression from the peak of a hill to two houses on
opposite sides of the hill are 30° and 60° respectively. Find the

distance between the houses if the height of the hill is 60 m.

—_—




